
 T (ns)∆TOF 
2− 1.5− 1− 0.5− 0 0.5 1 1.5 2

0

5000

10000

15000

20000

25000
 / ndf 2χ  43.73 / 9

Constant  8.467e+01± 2.409e+04 

Mean      0.000425±0.002473 − 

Sigma     0.0005± 0.1354 

=150, p=[1.0,12.0]σ

 KinFit MC+π

 KinFit Data+π

 T (ns)∆TOF 
2− 1.5− 1− 0.5− 0 0.5 1 1.5 20

5000

10000

15000

20000

25000
 / ndf 2χ  44.02 / 9

Constant  8.456e+01± 2.405e+04 

Mean      0.000427±0.003271 − 

Sigma     0.0005± 0.1355 

=150, p=[1.0,12.0]σ

 KinFit MC-π

 KinFit Data-π

 T (ns)∆TOF 
2− 1.5− 1− 0.5− 0 0.5 1 1.5 20

5000

10000

15000

20000

25000
 / ndf 2χ   9376 / 9

Constant  7.944e+00± 2.418e+04 

Mean      0.00004± 0.03299 

Sigma     0.0000± 0.1358 

 / ndf 2χ   9376 / 9

Constant  7.944e+00± 2.418e+04 

Mean      0.00004± 0.03299 

Sigma     0.0000± 0.1358 

 T (ns)∆TOF 
2− 1.5− 1− 0.5− 0 0.5 1 1.5 20

5000

10000

15000

20000

25000
 / ndf 2χ   9122 / 9

Constant  7.876e+00± 2.402e+04 

Mean      0.00004± 0.03361 

Sigma     0.0000± 0.1358 

 / ndf 2χ   9122 / 9

Constant  7.876e+00± 2.402e+04 

Mean      0.00004± 0.03361 

Sigma     0.0000± 0.1358 
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